











Design shear strength
of concrete 7. N/mm?.
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st class bricks. Which are the applications where firs
classes of bricks should not be uS

‘mm, is simply supported over an effective

n'gle whose eccentricity varies linearly from
" span points from either support, Effective







taking place.

(ii) Indicate the advantages

\yt{ Determine the vertical displac
due to heating from the wall n
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2400 mm

temperature of A= 70°C. ﬁke , ient o
a=1-05x(10-5)°C and E-zloulo*lfﬁm’
member is Mimd in the figure in mm2.
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column ISHB 300@S77 N

ictored load of 1200 kN and a factored

‘with lower storey column ISHB 400@806 N/m (b= 5 3
Design a suitable splice, Given that f-ZSOMPd. o™ 34
By~ (1-0:01251,). Also sketch comecumdehil&UsebollsOf Grade

-‘;’G.I(c) mblbmngubleshowsthenonmkshmmdmmdmuom
e 'mm”b‘wfﬂf&emmplmaof&epmmﬁewblcalsoah:
s )llleos!peruml duration of each acuvnty The

et with nspecl to the normal duration of lhc project.
T unit time is T16000/-. Calculate the optimum cost of
{dlrecl) of completing all the eight activities in normal
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simply supported ; including it
: of 6m span carrics a udl of 70 kN/m ding it
:ei.h. The lv-dnbl:e:mecnon is ISMB 450. Covgr plates of'm
provided, if required, only on the top flange. Design the stee d check |
shear and deflection,
Take y=1.5; y o = 1-1. Assume that the sgcuon is plastic. f, = 250 MPa
Sectional area of ISMB 450; a = 9227 mm
Width of flange = 150 mm
Thickness of flange = 17-4 mm
Thickness of web =94 mm
Moment of inertia Z__ = 30390.8 em*
Radius at root = 15 mm
Plastic Modulus Z,, = 15334 cm’,
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